Year 5 maths - Summer 2 Week beginning: 4.5.20 - Measures
Convert units of length (cm Convert units of length (cm Convert units of length (m and | Solve problems by convertin .
Theme and mm) o and m) o km) o unitspof length (iﬁches/feetg Convert units of mass (kg and
(Lesson 1 of 3) (Lesson 2 of 3) (Lesson 3 of 3) and cm) 9)
RS Recap identifying decimal Recap place value in decimal . . . . A "
fluency (to Recap ordering decimails here. Recap ordering decimails here. Recap comparing decimals here.
aid fluency) numbers here. numbers here.
(Lesson 1 resources below) | (Lesson 2 resources below) | (Lesson 3 resources below) | (Lesson 4 resources below) | (Lesson 5 resources below)
MAKING LINKS: We learnt MAKING LINKS: Yesterday | MAKING LINKS: Yesterday | MAKING LINKS: Yesterday MAKING LINKS: We learnt
about measurements in we learnt about converting | we learnt about converting | we learnt about converting | about converting between
year four. between centimetres and between meftres and between mefres and inches, feet and
millimetres. centimetres. kilometres. centimetres.
THINK: (support below)
Can you help me with this THINK: (support below) THINK: (support below) THINK: (support below) THINK: (support below)
problem? Can you help me with this Can you help me with this Can you help me with this Can you help me with this
problem?2 probleme problem? problem?
1) Measure the pencil and -
the Lego man in S B[ 67km | fgsaere | I'mlooking for a new rug These strawberries weigh 80
millimetres. 2) What is the Oakies ! s m 6km70m | frovelea oy for my house. It should be grams. Ria thinks this is
height of eachin . N vans Wite fne || NO longer than 80 cm and 0.8kg. Is she correct?
centimetres?2 . ISR fravelled using no wider than 50 cm. |
Problem/ ggEe‘ \(;gzgey::rZIOW) mesmetit | found this one on the SEE: (model below)
activity of | SEE: (model below) SEE: (model below) internet but the See video here.
the day See video here. DO: Use what vou have meosuremen‘rs are ir_w
learnt today ‘roy solve the DO: Use what you have inches. Should | buy it? DO: Use what you have
DO: Use what you have other problems below. learnt today to solve the RUG FOR SALE learnt foday to solve the
learnt today to solve the other problems below. - other problems below.
40 inches long
problems below.
24 inches wide
SEE: (model below)
See video.
DO: Use what you have
learnt foday to solve the
other problems below.
m;th;g:’s Day 1 resources and Day 2 resources and Day 3 resources and Day 4 resources and Day 5 resources and
Iy ci]ecks answers (below) answers (below) answers (below) answers (below) answers (below)

See below for resources to support you to THINK-SEE-DO
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https://uk.ixl.com/math/year-5/what-decimal-number-is-illustrated
https://uk.ixl.com/math/year-5/place-values-in-decimal-numbers
https://uk.ixl.com/math/year-5/put-decimal-numbers-in-order
https://uk.ixl.com/math/year-5/put-decimal-numbers-in-order-ii
https://uk.ixl.com/math/year-5/compare-decimals-on-number-lines
https://vimeo.com/412308669/ca376e5218
https://vimeo.com/412458115/3732a46fe0
https://vimeo.com/412266614/85c76f6bd4
https://vimeo.com/412458996/a43c32b5cc

DAY 1 RESOURCES:

THINK:

1)Measure the pencil and
the Lego man in
millimetres.

2) What is the height of
each in centimetres?e
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SEE: Watch the video here.
Millimetres

The important thing fo rememberis 1cm = 10 mm.

The pencil is 45mm and the Lego man is 22mm. 0 1

Centimetres

There are 10 millimetres in a centimetre, so 1 mm represents one tenth

of a centimetre or 0.1cm.

Pencil

I0Omm=Tcm TITmm=0.1cm
A0mm=4cm 5mm=0.5cm
The pencil is 4.5 cm.

Lego man

I0Omm=Tcm TITmm=0.1cm
20mm=2cm 2mm=0.2cm
The Lego manis 2.2 cm.

Another method
Turn cm into mm by
multiplying by 10.
2.2cmx 10 =22 mm

Turn mm into cm by
dividing by 10.
45mm =10 = 4.5cm

For more, look at this link
and here's another.

DO:

1. Whatis the length of each block in a) millimetres and b)
centfimetres?

T |
O 1 2 3 4 5 6

T |
0 1 2 3 4 5 6

cm

0 1 2 3 4 5 6
cm

2. have aribbon that is 20cm long. | cut off 70 mm. How long is
my piece of ribbon now?

3. A plant is 45cm tall. | cut off 17mm. How tallis it now?

Deepening:
Write an explanation of your method for a) converting 5.8
cm info mm and b) converting 93 mm into cm.
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https://vimeo.com/412308669/ca376e5218
https://www.bbc.co.uk/bitesize/topics/z36tyrd/articles/z2fkwxs
https://www.bbc.co.uk/bitesize/guides/z27xsbk/revision/3

DAY 2 RESOURCES:

THINK:
Write the height of each free using the same unit.

Apple tree 600 cm
Oak tree 48 m
Pear tree 518 cm

EE: See video here

Let's start with centimetres.
Apple tfree is done (600 cm) and pear tree is done (518cm).

Oak tree 4.8m =4m + 0.8m
There are 100 cm in one metre. If we split a metre into ten equal pieces then each
piece would be 10 cm long, so one tenth of a metre is 10cm.

I m=100cm 0.1m =10cm
4 m =400 cm 0.8m=80cm
The oak tree is 480cm.

Now let's look at metres.

Oak tree is done 4.8m Pear tree 518 cm. You can break this

into: 500+10+8 cm

1 =1
Apple tree 600 cm 588 22 - 521
100cm=1m
600 cm =ém

10cm=0.1Tm

The apple tree is ém. lem =001 m

8cm =0.08 m The pearireeis 5.18m

Jackis Tm 80 cm tall. How tall is he in:
a) centimetres
b) metres?

A door is 280 cm in height. How tall is it in:
a) metres and centimetres
b) metres?

A lorry is 4.6 m long. How long is it in:
a) metres and centimetres
b) centimetres?

A fence is 809cm long. How long is it in:
a) metres and centimetres
b) centimetres?

A building is 14.6m tall. How tall is that in:
a) metres and centimetres
b) centimetres?e

My friend is Tm 64 cm tall. How tall is she in:
a) metres
b) centimetres?

Another option is metres and centimetres
The oak tree is 4. 8 m. We can split this info 4m and 80cm. The pear free is 518 cm
so we can split it info 5m and 18 cm.

You can also furn m to cm by multiplying by 100 and turn cm to m by dividing by
100. Like yesterday, you can look aft this link and here's another.

Deepening:

A 1-2m ribbon and a 90 cm ribbon are joined by overlapping the ends and gluing
them together. The total length of ribbon needs to be 195 cm long.

How much should the two pieces overlap?
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https://vimeo.com/412458115/3732a46fe0
https://www.bbc.co.uk/bitesize/topics/z36tyrd/articles/z2fkwxs
https://www.bbc.co.uk/bitesize/guides/z27xsbk/revision/3
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DAY 3 RESOURCES: SEE:
THINK: van kilometres and | kilometres metres
k=] -
Here are the metres
6.7 km distances m 6.7km = km 6.7 km 6.7 km=6km + 0.7 km
® ® 0.7km
travelled b 3 _
6km70 m o Y Q=0 Tkm = 1000m
some aelivery There are 10 lofs 4km = 6000m
vans. Write the of 100m in
S— distances 1000m, so 100 m 0.1km= 100m
B ‘ﬁ 6007 m travelled using is one tenth of a 0.7km = 700m
. kilometre.
fhe same units. 0.1 km = 100m This van fravelled £700m.
0.7km =700m
bo: This van fravelled
Converf these measurements. Top tips: 6 km 700m
2. 7km100m =....m 1km = 1000m
3. 8400m=....km _ There are 100 lots of | Tkm = 1000m
4. 1.02km=...kmand...m 100m = 0.1km 10m in 1000m, 5o 6km = 6000m
5. 4km50m=...m 10 m = 0.01km 10m is one
6. 9040m = ... km 1m = 0.001 km h.undredTh ofa This van fravelled 6070m.
7. 4008 m=...kmand..m kilometre.
8. 6km 4m = ..km 10m =0.01km
) ) This van fravelled
2. Complete the table showing how far the children ran. 07km.
kilometres kilometres metres (g e g 6007m = 6007 m = 6000m+7m | 6007 m
and metres 6 o 6000m+7m
1000m = 1km
James 4km 500m 1000m=1km 6000m = 6km
6000m = 6km
George 4.05km There are 1000 lots of
This van fravelled | Tmin 1000m so Tmis
Isla 4005m 6km 7m. one thousandth of a
kilometre.
o 1m =0.00Tkm
Deepening: 7m = 0.007 km

1. Sarah thinks 6km 3m is 6.03km. Is she correct? Explain
why or why not.

This van fravelled
007km.




DAY 4 RESOURCES:

THINK: DO:
: E Write these measurements in

I'm looking for a new rug for my house. It should be no RUG FOR SALE cenfimetres using the fact linch =

longer than 80 cm and no wider than 50 cm. | found 40 inches long 2 5em

this one on the internet but the measurements are in 24 inches ]' 30 .inches

inches. Should | buy it¢ 2' 100 inch

Top tip — 1 inch = approximately 2.5cm 3' 3 'ncl?wceses

.3
SEE: 4. 25inches
1inch=2.5cm Let's start with the length of 40 inches and multiply to find Another measurement is “feet.” One
W this fact 1 ¢ out new facts. foot is 12 inches.
© can use 1his fact To work ou OR 5. A) Work out 2 feet 4 inches in
ofher facts by multiplying. linch=25cm 1 inch =2.5cm inches.
10inches =25cm 4inches=10cm . .
. B) Work out 2 feet 4 inches in
For example: 40 inches = 100 cm 40 inches = 100 cm ) ot
linch=25cm centimeires.
2inches = 5cm This rug is 100cm long or Tm.
4inches = 10 cm S 9 6. A) Work out 50 inches in feet and
8 inches =20 cm inches. (Clue: how many lots of 12
10inches =25cm Now let's look at the width 24 inches. in 50?)
- I'll split this into 20liNChes and 4 inches to make it easier. B) Work out 50 inches in

| can also use addition to help centimetres.
me. ‘ . linch=2.5cm 1inch =2.5cm
g !”CEGS = T'O'”Chesggr‘Ch 10 inches =25 cm 2inches =5cm Deepening:

Inches = 10cm + 2.0 cm 20 inches =50 cm 4 inches =10 cm : :
5inches = 12.5 cm Now trying working the other way.
What others can you work out? feet and inches is thate ’
Watch the video. Unfortunately, this rug is too large for my house. I'll . L . .

— have to look for another onel What is 445 cm ininches2 What is that in
feet and inches?
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https://vimeo.com/412266614/85c76f6bd4

DAY 5 RESOURCES:

THINK:

These strawberries weigh 80 gram:s.
Ria thinks this is 0.8kg. Is she correcte

SEE: See video here.
We know that 1000g = 1 kg.

We would need 10 lots of 100g to make 1000g, so 100g is one tenth
of a kilogram.

0.1kg = 100g
0.8kg = 800g

We would need 100 lots of 10g to make 10009, so 10g is one
hundredth of a kilogram.

10g = 0.0Tkg
80g = 0.08kg

So Riais incorrect. 80g is eight hundredths of a kilogram which we
can write as 0.08kg. Her answer 0.8 kg is eight tenths of a kilogram
which is 800g. That would be a lot of strawberries!

DO:
Write each mass in kilograms.

1. 20g
2. 50g
3. 709

Write each mass in grames.
7. 0.04kg 8.0.06kg 9.0.03kg 10.0.2kg 11.0.9kg
12. 0.8kg

Deepening:
A football weighs 0-4 kg.

Three footballs weigh the same as eight cricket balls.
How many grams does a cricket ball weigh?
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https://vimeo.com/412458996/a43c32b5cc

ANSWERS:

a) 53mm b) 5.3cm
. b)42 mMm b) 4.2cm
a) 38 mm b) 3.8cm

Deepening
Own answer

Day 2:

DO:

1.a 180cm L 1.8m
2.02m 80cm b 2.8m
3.a4m 60cm b 460cm
4, a8m 9cm L 8.09cm
5 al14m 60cm b1460cm

6a1.64m b 164cm

Deepening
15cm
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ANSWERS:

Day 3:
DO:
1. 4km 600m
2. 7100m
3. 8.4km
4. 1km 20m
5. 4050m
6. 9.04km
7. 4km 8m
8. 6004km
9. 8.003 km
kilometres | kilometres | metres
and
metres
James 4km 500m | 4.5km 4500m
George | 4km 50m 4.05km 4050m
Isla 4km 5m 4.005km 4005m
Deepening:

Sarah is incorrect. It should be 6.003km.

Im in one thousandth of a metre or 0.001 so 3
m is 3 thousandths of a metre or 0.003. She
has written 6.03 km which is 6 km and 3
hundredths of a kilometre (30 m).

Day 4:
DO:
175cm
2 250cm
37.5¢cm
4 62.5cm

5 a) 28 inches b) 70cm
6a) 4 feet 2 inches b)125cm

Deepening:
230cm =92 inches = 7 feet and 8 inches

445 cm = 178 inches = 14 feet and 10
inches

Day 5:

DO:

1. 0.02 kg

2. 0.05kg

3. 0.07kg

4, 500g = 0.5kg

5. 300g = 0.3kg

6. 250g = 0.25kg

/. 409

8. 609

9. 309

10. 2009

11. 9009

12. 12

13. 800g
Deepening:
1509
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